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The fiwres in the margin inilicate lull marks
for the questions'

(MODERN INDIAN LANGUAGE)

(NEW & OLD COURSE)

Full Marks : L00

Pass Marks : 30

Time : Three hours

Q. No. 1 carbs 7 mark each

Q. No. 2 catries 2 nurks each

Q. No. 3 canbs 4 marks each

Q. No. 4 canies 5 marks each

Q. No. 5 caries 7 nark each

Q. No. 6 canies 2 marks each

Q. No. 7 caries 4 nmrks each

0. No. 8 caries 3 marks each

Q. No. 9 canbs 7 matk each

Q. No. 10 catries 2 nnrks each

Q. No' 11 catties 4 rnarks eaclt

Q. No. 12 carries 7 marks each

Q. No. 13 carries 7 mark esch

Q. No. 74 catries 2 mnrks each

Q. No. 15 canies 70 matks each

7x7 = 7

2x7 = L4

4x\ = 4

5x2 = 10

1x5 = 5

2x5 = L0

4x1. = 4

3x2 = 6

1.x2 = 2

2x2 = 4

44= 4

7xl = 7

1x5 = 5

2x4 = 8

10x1 = 10

Total =100
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) r EE< &afif AzsrEf arf< Es< $R-{ B 5x 1:1

1o; qfi{tar c{qrq{<'q-fssef ft filTs s{ ?

({) ctR.gl wffisfr St etg er aem i<fi qq"frnr .d'rrs< an G't r

(a) vr<qr sffifr-s cq<rs fi1e sqrrr<tfi q{'ft$ csn z

({) 'sfuRqx.k' $s mnmrft <<f{fu qR cr<r qm r

(s) ?r-fiqR{kR frraq <r-+lB ft I
(E) <trfl{s strs w{Eis pzt< dl$ca on ffi {r< <jjTe.src< erqsl oRkq I

(O q:TffTt &.!TK q;rs c$lq ?

(o) <'cs c{rt s{l-f$ rower+fi cqft-< 6$rs 6{-<i $ {l{rqfrffi +Rk z

(<t) '"Ffu'T16{'srr {ql{ ?

(qo) 'fr e{&-Tt flRq<'fift $ffi< <D-s csFr ?

G) 'T,nlT{'4l:t< flEr qioflFF <D-+ c$F ?

(5) fti{s<"tlt {trftil{ vFF w{ <11sr{< fittt ft r

t I EFK fim@r ryz-\r7fl q{< Eg< $k<i B qx 1:1s

(o) ESaq c{q<+<rc e<tqfro sFr E tFr $t mr<l frtr
({) 'erfE'q$'qfu-qF'lq 6R qef fr r

(rl) ffi{ttsl-fi Rcq.ft ctRer$< 6afffi $qm-sRq< exE'fftR'fi<k clffi q.q r

({) 'g< aiftg'\fl$ 'ilfuqs' sE Tr;r< <Es c$F ?

(s) 'Etalt cGN.','qqsistwqqk qdft I
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(E) EF ae< fAkfiEr fr'Itt

(O 'qrre'oenqF,F eil{ffo mF E{< ccta stRH {GeIs +REq r

(q) ..M c+FrH E+qitq< <lc<, asl{ uas <qfl aTrF {Rqq fit'els
+REq t

(4) ?{gtfr-$ ffifr-{sl sFF FICE ?

s I erc\tt ciut& q'{Q <iltrt o'fi : 0Qrorryt q@r+D 8x >:8

($) '4lftrq ftq ffir
fllrp sqe eaE dif({ qtfr tt"

<ql "ofr 6<q q+ offi erfo lElrd"tl"

(rt) "sKqrx1&<{4tm mnt"

G) -Rgta< c{rdft qqfub1rc q?{$R rqdr< e+g q< mRt"

8 r ffi fA s{< EE< fr"'fi 3 cx r::o

1o) &$tls< q{ffTi fuc<lslx-{q< c{61 q?{cFI a-E rB ql$ <ltr{ol"is Efi{cr
qrrq fifiEs qERs t{ qREq D1cT G'tt

({) c\qcq$c[-$kq< DrFAt<FrBi fr'dt I

(tt) 'SRkxc(<'"IaK 6iqi"r-fr c-qr6 eF 6mt {es s'+tt

(s) Bqfirq< {tig ffetqtr {R tfl'{El ft<aio ar<.r skdd ffi c?flsil fiqitfts

esm fr ft E rrq"t fitrf, fisi< stsft{ fr"dtl

(s) qcftrl 5-d6-{ qqgid' m;Geqm qtr<rd< w<qF q-'r5 fr'tt

(D) erls ffi< olr cotr tr<I EGs "ttb-< 
qtqR\o qtri'lu-d1 s-dl I
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c r EE-{ fiz"ltal da6f gm EE< fr".ft B 5x 6:6

($) <<fts{ slfi fr r

({)'(ffc{lvl' "lqfr< qdfr.drl

(ei) qfrfu cqft< sRq{ {q {q ft ?

({) 'er{6 q-d-sl'fit6B< ft 1qECq t

(s) 'fr{ Fffi T{r R{<' - sRc{ nts 'fr{ fifi'$ qGfu +Rcq r

(D) ?t Gfrfrft'$Frsan< <Es .s1q ?

(B +a+rs r+-<K +r<i-EflE mr+qq qfrqtuft< q<na {<fu p

(q) ffieq <-{r?E< T{r arc<{ctEq-s sq< ntl fr"{t I

s I ioe< fir+fr+ "rfolFrge< EEr fr'{r B \x c:)o

(s) .ti<'{ri< qts ql<-{cqK {5 .+tt <<fts <o-+ +RRq r

("1) cv. Tq:, sn3 eq ft I

(nt) aBft<m cqft-{ qtsjt&-s v-FK <rq{ st'eqFs tr<t T+q sFidE< qn fidt r

(E) 'cq c!t< qtots-'ffi $"i'$ sRrl sr$, ft sltrtE qH{ qaR6s r

(s) 'ot5frfrq q<'nffi ecm .$iq E;te qFF aslrqr {{'rsg eroq ?,fiq r

(D) 'qfcqf6t{ qelr+s +.lx \Trs rlll' - TRcn q-cqI"r< qq<v ql$'| ft fr'$-l{\
frnra Rlns oRe z

(O csFr l;ti5 \fl$ sb {<-sls {<.{R qrr tqftq r

(q) 'N.fs{'sF-qs $fr< T{E W-nB fr'c-q c$cfs qas +Rrq r

2er MASS t4I



1 r em(rt{(rfB q,ft <]t n o<t s (firfitil ,$ffis 8x ):8
(n) fin 1frarrr Sfu$ qqrm

cqt qR {mr$ m'tcr r

frqEs< q& s-sB frB-{

{${ {t{r< mtFr il

(.r) Ebt fr-fr, .tqm, +ffi
qm<<r cfi qfRE coNK

cEtct qkfl< figr {q<rE

frrq $-{t $f<,

orb frfr< q< 
r

(rt) {q"it mK fiTt< qq

G& {qjro tlf6:dif

ffi qrom c<otfrrbt &
e<rcfr cqR ercit

. v | frrfilrqt nAf aa< Ere< Apm B ex i:s
(o) '*r ts{:r frq< VRq'1fr corn, mlo, ft'* ?orq r

' (?t) 'q-4spq qtqF' +ffi sRR ftq< qr fficq frd r

(a) qrc{H<r 
"tall<s Tsfr {qil {6E sR6{ fr ft cq'$ "trcertrq aqn kbt s-sp<{

qrms frt r

(q) +R q-<-srs <q<K 16o "Iftffi{ '{Eq rEq'qtRrq fr qffir qF r

b r fuTtrqt nDt oq< BE( frR'{t ) x Q.:r.

(n) {elr<t<-<'frffi'ft I
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(?r) t$ctF ste'qls'fr qnrc< qRGs r

(it) $qjfr-$ FNIT'st{d< qrfr-6?rrnlqt,$ mrra qGRs $Rcq z

:o I firqal ftr Es< Ee-< frFr<r e

({) .fq ffi qt+ 41a4 $6q ft pr
stB.+t Tes o{tr

l qqffrt sFFr lq fisfucg{ qfi
l+l+e:1

(s) Tqr6r{c{< qd, Em{rqssvq<wffr artrFrBr*{rqtrir er+rq<amfr<ft 
r

({) tsc-tK slq< <lr< erw +.<t ql$fr-s sq< "fl-b@ns 
am dlqfrs q$ ffifr-s

Rlgmttfrft r

(rt) ltsfr-$ vq< ftsR Em fre.mv frtft ft r

>:r fircrrffqAaq<Ee<fift{:

(+) 'qq-rsrffi {drc<t{'q*tc5 ulto F{r r

("t) 'qG< ytfrurrw yt, fien q+ qlG full< qrqrd< Irt t,,- <jl"II <{l I

)\ r (O Tq efWW+uhv erq-rsf$ mnn r EmFn<qqs{q aqF$rnbEqF"Hq

tqftfr"t r \+\+e=1

lx \=8

8x::8

).g I g"{< fr@lrat ffit.1qs c{trf c{{l erslra{< vtfB cnls+ :

F-<.r, ctm, "Ifu, Et{<r, qarrq, {flfirl<, mr<ftr

29T MASS t6I

>x c:c



)81 g-N fi{I qP<t }br<x< \rdfrR qrsFfrs rlsl-<D-{l o'{t s (firat'ql 6lffit)

E?flv <t rcil, 6F 6s<, ffi s-q{ +W, Yw
uT wqtt

\x 8:tr

s"Fts qrq, qfr"t 
"flE-fr,

)a I saK fi6quflI,46RT{ ?q efi <E-{t fi"ll )o

(o) qt$s wrq< otR a qmqtrct I

1vr<efi - \ry"flq-{t-dsF €qq - a< Bqr<rou ffi;rs'r qFr

q.tfTqan-'d - IFir<t<< \tr{s-{ - affi 11

({) W< \qr+ ryGru qr[q dSTs IEfu qtfur< Effi '\

(q{sfi - qrfui qr+ qEIgI - IBttE qtfur qtq qrMstsK ?F.{tFs fr't

- 
qtffift 11

(t) ryqs't fi ut+ sT€?t q€ilfu qKt

(qr<eff-q.+qiqfifi<sl{s_w1elret-g6-fi6qq-qrfufr-$
x<t - qi<fi dtFK G"tm - affi 1;

.h

(q) qt'rffi fiffi qPq mnrcht< ePn

tqr<gff-qGC[dfifuftr-?.qKdEFw+eHK_qaEtreK{q
sKq':ry{q - cqB-{Es fr"t - ffi<ft 11

-x-
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